Economics 101

Answers to PQ4

Fall 2004
1. Problem 1
1.1. The equilibrium price and equilibrium quantity are $5 per unit and 5, respectively. 

1.2. TR=$25
1.3. Price floor is below equilibrium price, so it is not effective. 

1.4. New quantity demanded would be 4.5 (6=-2qd+15(qd = (9/2)=4.5)
2. Problem 2. True.
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Given the effective price ceiling, the shortage with the elastic demand curve is Q3 – Q1 while the shortage with the inelastic demand curve is Q2 – Q1.

3. Problem 3.

3.1. d)

3.2. b)

3.3. b)

3.4. e)
4. Problem 4
4.1. The equilibrium price and equilibrium quantity are$30 per unit and 15, respectively. 

4.2. At the floor price of $40 per unit, excess supply is 15 ( = 25-10 ).
Gov. expenditure = (Excess supply)*(Floor price) = 15 units*$40 per unit = $600

4.3. At the guaranteed price of $35, the quantity supplied is 20. At the quantity supplied of 20 in the market, we can calculate the consumer’s price: $20. Thus, subsidy per unit by government is $15 per unit and the cost to the government of this program is $300.
4.4. Yes. Price-support programs also require that the government store the goods. So, additional storage costs need to be considered as part of the total cost of the policy.
5. Problem 5. a)

6. Problem 6. b)
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